## **ORIGINAL**

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

#### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License # 31714	API No. 15 - 009-25,339-00-00
Name: Novy Oil & Gas, Inc	County: Rooks
Address: 125 N. Market # 1230	e2 sw_nw_sw_sec. 25 Twp. 19 s. R. 11 East West
City/State/Zip: Wichita, Kansas 67202	•
Purchaser: NCRA	600
Operator Contact Person: Michael Novy	
Phone: (316) 265-4651	
Contractor: Name: Royal Drilling	1 1 1
License: 33905	Kraft - Prusa
Wellsite Geologist: Macklin Armstrong	Arbucklo
Designate Type of Completion:	Elevation: Ground: 1766 Kelly Bushing: 1773
✓ New Well Re-Entry Workover	Total Depth: 3298 Plug Back Total Depth: 3298
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 276 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 1345 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1345
Operator:	000 4 001417
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AI+ I NQ 10-21-09
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 68000 ppm Fluid volume 1200 bbls
Plug Back Plug Back Total Depth	Dewatering method used Let Dry and back fill
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Novy Oil & Gas, Inc.
,	Lease Name: Isern License No.: 31714
08/26/2009 09/02/2009 09/30/2009  Spud Date or Date Reached TD Completion Date or Recompletion Date  Recompletion Date	Quarter Sec. 25 Twp. 19 S. R. 11 East  West
Recompletion Date Recompletion Date	County: barton Docket No.: D - 30367
Kansas 67202, within 120 days of the spud date, recompletion, wo Information of side two of this form will be held confidential for a period 107 for confidentiality in excess of 12 months). One copy of all wireline TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged with all requirements of the statutes, rules and regulations promulgated to re-	d with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, brkover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. d of 12 months if requested in writing and submitted with the form (see rule 82-3-109 and geologist well report shall be attached with this form. ALL CEMENTING wells. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	KCC Office Use ONLY
Signature: William Francis	ROO OTHER DEC ONE
Title: Vice 1 resident Date: 10-15-20	609 Letter of Confidentiality Attached
Subscribed and sworn to before me this 15th day of Actober	If Denied, Yes Date:
2209	Wireline Log Received
1	Geologist Report Received
Notary Public - State of	T Kansas UIC Distribution RECEIVED KANSAS CORPORATION COMMISSION
Date Commission Expires: / 2 My Appt. Expires 12-13	10K

OCT 19 2009

#### Side Two

perator Name: Novy	Oil & Gas, Inc		Lease	Name: 1	sern A		_ Well #: _4		
ec. 25 Twp. 19			County	: Rool	(S				
ested, time tool open a emperature, fluid recov	and closed, flowing very, and flow rate	and base of formations g and shut-in pressures s if gas to surface test, final geological well site	s, whether sh along with f	nut-in pre	ssure reached	static level, hydro	static pressur	res, bottom hole	
orill Stem Tests Taken	noofe)	✓ Yes  No		<b>⊘</b> L	og Formati	ion (Top), Depth a	nd Datum	Sample	
(Attach Additional Stamples Sent to Geolo	•	✓ Yes		Nam	е		Тор	Datum	
Cores Taken	igical Sulvey	☐ Yes ☑ No		Heel	bner		2875	-1102	
Electric Log Run (Submit Copy)		✓ Yes No		Lans	sing		3020	-1247	
ist All E. Logs Run:				Arbu	ıckle		3290	-1525	
		CASIN Report all strings se	G RECORD		ew Used	ction etc			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	<del></del>	ight	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
surface	12 1/4	8 5/8	20#		276	Class A	200	3% gel 2% ccl	
production	7 7/8	5 1/2	14#		3262	50/50 poz	150	10# gil	
						A com LT	450		
		ADDITION	AL CEMENTI	ING / SQI	UEEZE RECOR	D			
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Type of Cement	#Sack	s Used		Type and F	Percent Additive	s	
Plug Off Zone									
Shots Per Foot		ION RECORD - Bridge P Footage of Each Interval F		·····		acture, Shot, Cemer Amount and Kind of M		ord Depth	
					150 gal 15	% mca		3290	
:									
TUBING RECORD 2 3/	Size	Set At 3250	Packer	At	Liner Run	Yes V No	)		
Date of First, Resumed F	Production, SWD or E	Enhr. Producing M	ethod	Flowin	ng 🗸 Pumj	ping Gas L	ift 🔲 Otl	her <i>(Explain)</i>	
Estimated Production Per 24 Hours	0il 10	Bbls. Gas	Mcf	Wat 142	ter	Bbls.	Gas-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF	COMPLETION			Production Inte	erval	*****	RECEIVED	
✓ Vented Sold (If vented, Sur	Used on Lease mit ACO-18.)	✓ Open Ho  Other (Sp.		rf.	Dually Comp.	Commingled	KAN	ISAS CORPORATION CON	
								OCT 1 9 200	

CONSERVATION OP/ISION WICHITA, KJ



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887

(785) 483-5566

AUG 31 2009

INVOICE

Invoice Number: 119821

Invoice Date: Aug 26, 2009

Page:

BILLTONA

Novy Oil & Gas, Inc. 125 N. Market Suite #1230

Wichita, KS 67202-1712

Customer ID	Well Name# or Customer P.O. 12 5	, ≰§ Paymen	(Terms)
Nove	lsem #4	Net 30	Days
Job Location	Camp Location	Service Date	∜. Due Date
KS2-01	Great Bend	Aug 26, 2009	9/25/09

S Quantity ( )	≾ltem ≤ •	Description	🗱 Unit Price: 👢	Amount :
200.00 MA	AT Class	A Common	13.50	2,700.00
4.00 MA	\T Gel		20.25	81.00
7.00 MA	AT Chlori	ide	360.50	
211.00 SE	R Handl	ling	2.25	474.75
15.00 SEI	R Milea	ge 211 sx @.10 per sk per mi	21.10	316.50
1.00 SE	R Surfac	ce	991.00	991.00
15.00 SEI	R Pump	Truck Mileage	7.00	105.00
ALL PRICES ARE I	NET. PAYABLE	Subtotal	L	5,028.75
30 DAYS FOLLOV		Sales Tay		197.91

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 754 31

ONLY IF PAID ON OR BEFORE

¦∴Sep 25, 2009 🚟

Subtotal	5,028.7
Sales Tax	197.9
Total Invoice Amount	5,226.60
Payment/Credit Applied	
TOTAL	5,226.60

DISCOUNT

754.31

TOTAL - 4,472.35

# ALLIED CEMENTING CO., LLC. 042683

→ P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

		· · · · · · · · · · · · · · · · · · ·	- <sub>1</sub>	
DATE 8-26-89 SEC. TWP. RANGE CA	LIBOP.M.	on Location 4:30 P.M.	JOB START	JOB FINISH
LEASE TSON WELL# #4 LOCATION Ellina		-	COUNTY	STATE KS.
OLD OR NEW (Circle one)  To 150 Avenue	<i>.</i>			
	•		- 1 A -	
CONTRACTOR Royal Orly.	OWNER /UC	ovy 0.19	<u> </u>	
TYPE OF JOB Sur Face	CERTENIE			
HOLE SIZE 121/4 T.D. 276 FT	CEMENT	DERED 200	cu olic	- 113
CASING SIZE 85/8 DEPTH 276 FT			SX Clas	SATO
TUBING SIZE DEPTH	cc + 29	66e/		
DRILL PIPE 41/2 DEPTH 276FT		<u> </u>		
TOOL DEPTH	·		- 17.50	27000
PRES. MAX 300PSI MINIMUM	COMMON_2	00 9 X	_@_ <del>13.5</del> 0_	2700
MEAS. LINE SHOE JOINT 15 FT	POZMIX		_@	- Gl
CEMENT LEFT IN CSG. 15FT	GEL	<u> </u>	_@ <u>20.25</u>	81.00
PERFS.	CHLORIDE _	7	_@_ <u>\$1.50</u>	360.50
DISPLACEMENT FRESH WATER 161/20045	ASC		_ @	
EQUIPMENT			_@	
240411211		RECEIVED	_ @	
	KAN	SAS CORPORATION COMM	visædn	
PUMPTRUCK CEMENTER Dau'd W.			_ @	
#18/ HELPER Rapely P.		OCT <b>1 9</b> 2009		
BULK TRUCK				
#344/170 DRIVER While W.	С	ONSERVATION DIVI WICHITA, KS	SIQN	
BULKTRUCK		**************************************	@	
# DRIVER	HANDLING_	211	@ 2.25	474,75
	MILEAGE 🗸			316.50
REMARKS:			тоты	3932.25
REMARKS.	•		IOIAL	
DO TO BOTH AIRE MIN		SERVI	CF	
P.P. On BOTTOM Break CIRC MIX 2005x Class A +3% CC +296Gel		SERVI	CE .	
	DEIXELL OF 10	D 07/ 5	` <u> </u>	
Shut Down Release Plug DisPlace With Fresh Water Slow Rate		B <u>276 F</u> CCHARGE		91.00
			<u>v</u>	
Shut in coment did cire was		`AGE		105.00
op Rig Down.		5		703
	MANIFOĽD _			
•			@	
			_ @	
CHARGE TO: Novy Oil. Gas.				
			TOTAL	1096.00
STREET				
CITYSTATEZIP			•	
CITTDIALEZII		PLUG & FLOA	T EQUIPME	NT
·	(-1		<b>@</b>	
	Colombia		@	
	62-		@	
To Allied Cementing Co., LLC.	6.3t	a Trug	@ @	
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	<u> </u>		@ @ @	
			@ @ @	
You are hereby requested to rent cementing equipment	<u>6.3</u>		@ @ @ @	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	6.3		@ @ @ @	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or			@ @ @ @	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	SALES TAX (	If Any)	@ @ @ @	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	•		@ @ @ @	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL CHAI	RGES	@ @ @ TOTAL	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL CHAI	RGES	@ @ @ TOTAL	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL CHAI		@ @ @ TOTAL	
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	TOTAL CHAI	RGES	@ @ @ TOTAL	



PAGE CUST NO INVOICE DATE 1 of 2 1002956 09/08/2009

INVOICE NUMBER

1718 - 90120329

Pratt

(620) 672-1201

B NOVY OIL & GAS

I 125 N MARKET ST STE 1230 L WICHITA

KS US 67202

SEP 1 1 2009

LEASE NAME

Isern 'A' #4

LOCATION

COUNTY

Barton

STATE KS

JOB CONTACT

OB	DESCRIPTION	Cement-New	well	Casing/Pi

040088051 171800350A Cemer	20920 09/02/2009 to 09/0	2/2000	QTY		Net - 30 days	10/08/2009
040088051 171800350A Cemer	09/02/2009 to 09/0	2/2000	QTY			i
040088051 171800350A Cemer	09/02/2009 to 09/0	2/2000		U of M	UNIT PRICE	INVOICE AMOUN
171800350A Cemer		2/2009				
	t-New Well Casing/Pi 09	02/2009				
Cement			150.00	EA	6.82	1,023.0
50/50 POZ						
Cement			400.00	EA	11.16	4,463.9
A-Con Blend Commo	n					
Additives			138.00	EA	2.29	316.5
Cello-flake	or	051/50				
Additives	KANSAS CORPO	CEIVED RATION COMMISSION	32.00	EA	2.48	79.3
De-foamer(Powder)	V = 4.4. (0 0 0 0 1 1 )					
Additives	nct	<b>1 9</b> 2009	725.00	EA	0.31	. 224.7
Salt(Fine)	UCT	1 9 2003				
Additives			64.00	EA	4.65	297.6
FLA-322		ATION DIVISION CHITA, KS				
Additives	TVIC	Jilia, No	1,500.00	EA	0.42	623.1
Gilsonite						
Additives			500.00	EA	0.53	266.6
Mud Flush		İ	1 100 00	_,	0.05	704.0
Calcium Chloride	nat		1,128.00		0.65	
Cement Float Equipm Two Stage Cement C			1.00	EA	3,782.00	3,782
Cement Float Equipm			1.00	EA	527.00	527
5 1/2" Latch Down P			1.09		527.00	527
Cement Float Equipm			1.00	EA	2,294.00	2,294
Cementing Shoe Pack			1.00		2,254.00	2,234
Cement Float Equipm			6.00	FA	68.20	409
Turbolizers, 5 1/2" (Bl			3.33	-/`	00.20	, , ,
Cement Float Equipm			3.00	EA	179.80	539
5 1/2" Basket(Blue)						
Mileage			195.00	МІ	4.34	846
Heavy Equipment Mile	eage					
Mileage			1,638.00	МІ	0.99	1,624
Proppant and Bulk De	livery Charges			ļ		



CUST NO INVOICE DATE PAGE 2 of 2 1002956 09/08/2009

INVOICE NUMBER

1718 - 90120329

Pratt

(620) 672-1201

B NOVY OIL & GAS

1 125 N MARKET ST STE 1230

L WICHITA

KS US

67202

o ATTN:

SEP 1 1 2009

LOCATION В COUNTY

Isern 'A'

Barton

STATE

KS

JOB DESCRIPTION

LEASE NAME

Cement-New Well Casing/Pi

#4

JOB CONTACT

40088051	1	JOB # EQUIPMENT # PURCHASE ORDER NO.			TERMS	DUE DATE		
	20920				Net - 30 days	10/08/2009		
	<u> </u>		QTY	U of M	UNIT PRICE	INVOICE AMOUNT		
Mileage			600.00		0.87	520.80		
Blending & Mixing ( Pickup	Service Charge		65.00	HR	2.64	171.2		
Unit Mileage Charg Pump Charge-Hour	e-Pickups, Vans & Cars Iv		1.00	HR	1,339.20	1,339.2		
Depth Charge; 300	1'-4000'				155.00			
Cementing Head w. Plug Container Utili			1.00					
Supervisor Service Supervisor			1.00	HR	108.50	108.50		
					RECEIVI	<b>E</b> D		
					KANSAS CORPORATIO	N COMMISSION		
					OCT <b>19</b>	2009		
					CONSERVATIO	N DIVISI <b>ON</b>		
					WICHITA	, KS		
		1						

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

PO BOX 841903 DALLAS,TX 75284-1903

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

SUB TOTAL

20,346.88

TAX INVOICE TOTAL

505.85 20,852.73



## TREATMENT REPORT

	<del> </del>				<del>.</del>	<b>N</b> 1 -		1367116	2011	76:	T = -					
Customer	10119	$\phi$	161	745		ease No					Date					
Lease	アニーとし				Į v	Vell # //	1 ×	4	a *		09	7-2-0	27			
Field Order	# Statio	PR.	17					Casing	Dept	th 2220	County	BARTOI	)	. [5	State	
Type Job				57	م و الدس	~			Formatio			Lega	Description 25-12	P-//	,	
PIP	E DATA		PERI	ORAT	ΓING	DATA		FLUID (	JSED							
Casing Size	Tubing Si	ze	Shots/F	t			Ad	oid		<u> </u>	RATE PRESS			SS ISIP		
Depth 220	Depth		From		То	• .	Pr	e Pad		Max	Мах					
Volume	Volume		From		То		Pá	ad		Min			10 Mi	n.		
Max Press	Max Pres	s	From		То		Fr	ac		Avg			15 Mi	n.		
Well Gonnecti	ion Annulus \	/ol.	From		То			-		HHP Used	1		Annul	lus Pres	ssure	
Plug Depth	Packer D	epth	From		То		Fl	ush	,	Gas Volur	ne		Total	Load		
Customer Re	presentative					Station	n Mai	nager DA	K SCT	· ブ	Treat	er 2,64,7	Lille	(1-2 \		
Service Units	15867	19	959	209	' ن 2	1999	3/	19862	19900							
Driver Names	Sulling		hill	I <sub>C</sub>		Las	ha.	ic e	Phy	0						
Time	Casing Pressure		ubing essure	Bbls	. Pum	ped		Rate				Service Log		-		
1530									001	hec S	of 41	merto				
		<u> </u>											/			
									Russ	1 70	J.T. 5	5%	14 C.	S 9.		
									CENT 1,	2, 3, 4, 6,	45,4	+ BALL	154	7		
					REC	EIVED	Macc	TON	DU.	TOOL	JF 4	6 14	470'			
			. K	ANSAS CO	JHPUK	ATION CO	Allanoc									
0635 p.	· .	ļ		۵	CLI	L <b>9</b> 200	9		CHSIN	PON	Bot	40nu	···		·	
1240		_		CONS	ERV/	ATION DI	VISI	ON	Hook	Rig o	ciac.	·			<del>,</del>	
1845				CONC	WIC	ATION DI HITA, KS	3		DROP	BALL	_ 7	0. Srg	PAC	Ken	Show	
1900	1200											Shoe	d Ci	RC.		
<b>20</b> 03	150									17013						
						<u> </u>				11 2 S					<del></del> .	
							,	5	St n	nix Le	<u>ed e</u>	mid 15	osk 1	<u> </u>	unicrot	
		-	.:						<u> </u>	11 70	est C	not 15	OSK	<u> </u>	DOZ	
				-					Shut	down	01	UASH P	Cust	1416	5-5	
2030	11 at 2				سرسي	_	_	5	<u> </u>	0-	PU	15 C.	St 1.	1/5	) w/1/2	
· ·	400				56				06	7257						
	-500				6		<del></del>	3	27/			·		*		
2015	1600			- Fi	۱- مرا			2	1) low	s Make	1.	ZNSON		1.6	· · · · · · · · · · · · · · · · · · ·	
2045	1.600								1 Old	0 R	· A1	-77	<u>i HCT</u> Des	<u> 1</u> 32	I may	
056 20583	Syry								<u> </u>	To On	11 6 1.	<u>. 19 C</u> 3 1	the si	116	1 7666	
511777							_			11 1.11	~ # de	1 July 1	" raff			



## TREATMENT REPORT

Customer	0,000				Lease	No.	· · · · · · · · · · · · · · · · · · ·		<u> </u>		Date					
Lease		· · · ·	<u>.</u>		Well #							:				
Field Order	# Statio	on				• • •	Casing		Depth County					State		
Type Job								Fo	rmation				Legal De	escription	<del></del>	
PIP	E DATA		PERFC	PATI	NG DAT	ГА	A FLUID USED				TREATMENT RESUME					
Casing Size	Tubing S	ize S	hots/Ft		· ·	A	cid			RATE PRESS			SS	ISIP		
Depth	Depth	F	rom	, 7	<del></del>	P	re Pad			Max		(	· · · · · ·	5 Miņ.		
Volume	Volume	F 32 1-	rom	**************************************	ō	P	ad	*	· ÷ - E	Min			<del></del>	10 Min.	<u> </u>	
Max Press	Max Pres		rom	-	ō	Frac				Avg				15 Min.	1	
Well Connecti	ion Annulus	Vol. F	rom	1	ō					HHP Used	1			Annulus Pre	ssure	
Plug Depth	Packer D	epth F	rom	7	To	F	lush			Gas Volur	ne			Total Load		
Customer Re	presentative			•	Sta	tion Ma	nager				Trea	ter				
Service Units																
Driver Names				•												
Time	Casing Pressure	Tub Pres	ing sure	Bbls. F	umped		Rate					Servi	ce Log			
									1	ガレ	Tec	ر ک	147	Ò		
2200	1/50					4	4	1	fit	H	25	PR	ER			
*	· E3						4/1/2	8	Ens.	mil	Car	12	25 st	M. Con		
2225						ļ		5	hul	down	ہ ر	ewi	) WA	156 Deni	23 lues	
2227	361	<u> </u>					4	1_/	Wen	u f	ly	(V	570	ant L	2011	
	400	<u> </u>	_	2	/				A. 27	<u> </u>	5-					
2335	1500	<u> </u>		30	0	ļ	3	1 4	J.C.	[ 11	مار مارون عاد	1				
	*			9	*. i ·	1	<u> </u>	6	12.07	1	1	lit	29/	3BC .	1	
2340		ļ		· (	<u> </u>		بطر مدر		£,	182	/ w	115	ch		·	
234/4/						ļ	2.	6	1/1/	MI	1 14	110	k		· · · · · · · · · · · · · · · · · · ·	
		<b> </b>		·			· · · · · · · · · · · · · · · · · · ·		A /						,	
234/5							·	1/0		Comp	<u> L. L.</u>					
			-	•		-		0			7	1	<del></del>			
M. A.		<b> </b>		<del></del>		<u> </u>		5	3 3 - 2	1/1	Gast	<u>C (</u>	/al,/			
		-	-	R	ECEIVEL						<del></del>					
	_ <u>,</u>		KANS	SAS CORF	ORATION	OWWISS	SIUN	+	· · · ·							
* .				<del>0</del> 00	<del>19</del> 2	09		+				<u> </u>		5. 3. 3. 4		
· · ·	<u>.                                    </u>			ONGE	N/ATION			<del> </del>	• •		<u> </u>	·	4		· · · · · · · · · · · · · · · · · · ·	
		ļ	-   -	VINSE!	RVATION <del>/ICHITA,</del>	Ks .		<del>                                     </del>							<u> </u>	
	<del>.</del> ·	ļ						+		<del></del>				-		
		-	.	· · · · ·		<del> </del>	·	-			<del></del>			·		
		<u></u>				1										

ALA.